
CORE CUT 

PARTS LIST 

EMDS115-230V 
MINI DRAGON SAW 

Rev.: 21-01 Part #: 1802456 

Go t
o Disc

ou
nt-

Equ
ipm

en
t.c

om
 to

ord
er 

yo
ur 

pa
rts



Discount-Equipment.com is your online resource for quality parts & equipment. 

Florida: 561-964-4949 Outside Florida TOLL FREE: 877-690-3101

Need parts? 
Click on this link: http://www.discount-equipment.com/category/5443-parts/ and 
choose one of the options to help get the right parts and equipment you are looking 
for. Please have the machine model and serial number available in order to help us 
get you the correct parts. If you don’t find the part on the website or on one of the 
online manuals, please fill out the request form and one of our experienced staff 
members will get back to you with a quote for the right part that your machine needs. 

We sell worldwide for the brands: Genie, Terex, JLG, MultiQuip, Mikasa, Essick, Whiteman, 
Mayco, Toro Stone, Diamond Products, Generac Magnum, Airman, Haulotte, Barreto, 

Power Blanket, Nifty Lift, Atlas Copco, Chicago Pneumatic, Allmand, Miller Curber, Skyjack, 
Lull, Skytrak, Tsurumi, Husquvarna Target, Stow, Wacker, Sakai, Mi-T-M, Sullair,  Basic, 

Dynapac, MBW, Weber, Bartell, Bennar Newman, Haulotte, Ditch Runner, Menegotti, 
Morrison, Contec, Buddy, Crown, Edco, Wyco, Bomag, Laymor, EZ Trench,  Bil-Jax, F.S. 

Curtis, Gehl Pavers, Heli, Honda, ICS/PowerGrit, IHI, Partner, Imer, Clipper, MMD, Koshin, 
Rice, CH&E, General Equipment ,Amida, Coleman, NAC, Gradall, Square Shooter, Kent, 

Stanley, Tamco, Toku, Hatz, Kohler, Robin, Wisconsin, Northrock, Oztec, Toker TK, Rol-Air, 
APT, Wylie, Ingersoll Rand / Doosan, Innovatech, Con X, Ammann, Mecalac, Makinex, Smith 

Surface Prep,Small Line, Wanco, Yanmar 

http://www.discount-equipment.com/category/5443-parts/
http://www.discount-equipment.com/category/5443-parts/
http://www.discount-equipment.com/page/1517-search-manuals/
http://discount-equipment.com/parts/


FULL CENTER 

SUPPORT 

12" 

400 

0 

454 
55 

55�
_ 

···· ......... . 

��--·· 

....... -......... 'I".,, ···· ... _ 

--� 

/tsg 
56 
435 

437 

MINI ELECTRIC 

DRAGON SAW 
2021 

BEARING AND SEAL KIT #6061477
ITEMS 

(24,414,416,439,474,475,476)414
474

417

475
476

414

Cooling Block Update Jan 2021

Go t
o D

isc
ou

nt-
Equ

ipm
en

t.c
om

 to
 or

de
r y

ou
r p

art
s

FMcCullough
Rectangle

FMcCullough
Rectangle

FMcCullough
Line

FMcCullough
Line

FMcCullough
Line

FMcCullough
Line

FMcCullough
Line

FMcCullough
Line



ITEM Part # QTY DESCRIPTION EXT

2 6061189 2 SPRING

20-1 6061300 1 PLUG HEX

24 2703969 1 SEAL

30 6061208 1 FITTING-WATER

36 6061213 1 GUARD RUBBER FLOP

39 2903250 4 SCREW

40 6061184 1 WATER INJ. SKIP PLATE

55 6061367 10 SCREW FLAT HEAD 1/4-20x3/4  FHSC

56 6061368 4 SCREW FLAT HEAD 1/4-20X1/2  BHSCS

57 2900247 6 SCREW SOCKET CAP 1/4-20x3/4  SHSC

61 2900427 1 BOLT 1/4-20X3/4 SCH

66 2903251 1 BOLT SKID PLATE 10-32X1  SHCS

118 2901599 4 KEY WAY

121 6061246 1 DOWEL PIN

152 6061253 2 GUIDE ROLLER

400 6061397 1 CENTER SUPPORT 12"

400-1 6061469 1 CENTER SUPPORT 16"

401 6061398 1 BLADE GUARD

403 6061399 1 UPPER GUARD

405 6061400 2 ROLLER ARM

406 6061401 2 ROLLER ARM COVER

408 6061402 1 SHEILD LEFT

409 6061403 1 SHIELD RIGHT

410 6061404 1 SHIELD FRONT

412 6061405 1 DRIVE ROLLER SMOOTH

413 6061406 1 DRIVE ROLLER LIP

414 6061407 4 SEAL

415 6061408 2 BEARING

416 6061409 6 C-CLIP

417 6061410 1 COOLING BLOCK

418 6061411 1 SEAL & BEARING KIT

420 6061412 3 BRASS ELBOW

422 6061413 1 SPRING

423 6061414 1 TRANSMISSION

427 6061415 1 WATER CHANNEL

428 6061416 2 GEAR

431 6061417 2 HOSE

432 6061418 2 CLAMP BLOCK

433 6061419 1 NUT LEFT HAND 5/16-18 FIN LH

435 6061420 1 LOWER GUARD

437 6061421 1 HANDLE

439 6061422 4 BEARING

448 6061423 1 TRANSMISSION COVER

449 6061424 1 SHAFT

454 6061425 1 BRACKET

457 2900247 2 SHCS 1/4-20 x 3/4"

458 6061426 1 1/2" WRENCH

Go t
o D

isc
ou

nt-
Equ

ipm
en

t.c
om

 to
 or

de
r y

ou
r p

art
s



ITEM Part # QTY DESCRIPTION EXT

459 6061427 3 NUT 5/16-18 FLNC

460 6061428 1 1/4" MALE FITTING

461 6061429 1 HOSE

462 6061430 1 1/4" FEMALE FITTING

463 6061431 1 1/4" VALVE

468 6061432 1 O-RING

472 6061433 1 COUPLER

473 6061470 N/L STORAGE BOX - OPTION

474 6061481 1 RETAINING RING
475 6061480 1 PLASTIC SPACER

476 6061478 1 BEARING

Go t
o D

isc
ou

nt-
Equ

ipm
en

t.c
om

 to
 or

de
r y

ou
r p

art
s



N 

N 

z 

0 
0 
->. 

l 
N 
c.o 

.. 
->. 

0 

� 

0 
0 
m 
r 

Go t
o D

isc
ou

nt-
Equ

ipm
en

t.c
om

 to
 or

de
r y

ou
r p

art
s

MGrisez
Text Box

MGrisez
Text Box



ITEM Part # QTY DESCRIPTION EXT

1 6061434 1 US PLUG  110V

1‐1 6061435 1 VDE PLUG 220V

2 6061436 1 CORD ARMOUR

3 6061437 1 CORD CLIP

4 6061438 2 SCREW M4X14

5 6061439 1 LED INDICATOR LIGHT

6 6061440 1 SWITCH

7 6061441 1 SWITCH BUTTON

8 6061442 4 SCREW M4X16

9 6061443 1 ELECT UNIT 110V

9‐1 6061444 1 ELECT UNIT 220V

10 6061445 4 SCREW SC‐M4X8

11 6061446 2 BRUSH SPRING

12 6061447 2 BRUSH HOLDER

13 6061448 2 INSULATE PLATE

14 6061449 2 CARBON BRUSH

15 6061450 2 SCREW M4X6

16 6061451 1 MOTOR HOUSING

17 6061452 1 HANDLE‐RIGHT

18 6061453 1 HANDLE‐LEFT

19 6061454 1 PLUG

20 6061455 2 BRUSH CAP

21 6061456 2 SCREW M4X12

22 6061457 SCREW M4X25

23 6061458 2 SCREW M4X50

24 6061459 1 STATOR‐110V

24‐1 6061460 1 STATOR‐220V

25 6061461 2 SCREW M5X80

26 6061462 1 BEARING 6200LLU

27 6061463 1 FAN BAFFLE

28 6061464 1 ARMATURE‐110V

28‐1 6061465 1 ARMATURE‐220V

29 6061466 1 BEARING 6202‐2NSE

30 6061467 1 MOTOR 115V DRS12LY115V

31 6061468 1 MOTOR 230V DRS12LY230V

Go t
o D

isc
ou

nt-
Equ

ipm
en

t.c
om

 to
 or

de
r y

ou
r p

art
s



:::j 

CARBON 

BRUSH 

CARBON 

BRUSH 

AC 

Temperature Sensor 

,1,____-� 

ELECTRONICS 

§ 
� 
z 
C\ 

Go t
o D

isc
ou

nt-
Equ

ipm
en

t.c
om

 to
 or

de
r y

ou
r p

art
s



Printed in U.S.A. 

EQUIPMENT AND PARTS 

WARRANTY 

Discount-equipment warrants all equipment sold by it against defects 

in workmanship or materials for a period of one (1) year from the date of 

shipment to Customer. 

The responsibility of Discount-equipment under this Warranty is limited to 

replacement or repair of defective parts, of such parts as shall appear to us upon 

inspection at such parts, to have been defective in material or workmanship, 

with expense for transportation and labor borne by Customer. 

In no event shall Discount-equipment be liable for consequential or 

incidental damages arising out of the failure of any Product to operate properly. 

Integral units such as engines, electric motors, batteries, transmissions, 

etc., are excluded from this Warranty and are subject to the prime 

manufacturer’s warranty. 

THIS WARRANTY IS IN LIEU OF ALL OTHER WARRANTIES, 

EXPRESSED  OR  IMPLIED, AND ALL SUCH OTHER WARRANTIES ARE 

HEREBY  DISCLAIMED. 

Go t
o D

isc
ou

nt-
Equ

ipm
en

t.c
om

 to
 or

de
r y

ou
r p

art
s



Discount-Equipment.com is your online resource for quality parts & equipment. 

Florida: 561-964-4949 Outside Florida TOLL FREE: 877-690-3101

Need parts? 
Click on this link: http://www.discount-equipment.com/category/5443-parts/ and 
choose one of the options to help get the right parts and equipment you are looking 
for. Please have the machine model and serial number available in order to help us 
get you the correct parts. If you don’t find the part on the website or on one of the 
online manuals, please fill out the request form and one of our experienced staff 
members will get back to you with a quote for the right part that your machine needs. 

We sell worldwide for the brands: Genie, Terex, JLG, MultiQuip, Mikasa, Essick, Whiteman, 
Mayco, Toro Stone, Diamond Products, Generac Magnum, Airman, Haulotte, Barreto, 

Power Blanket, Nifty Lift, Atlas Copco, Chicago Pneumatic, Allmand, Miller Curber, Skyjack, 
Lull, Skytrak, Tsurumi, Husquvarna Target, Stow, Wacker, Sakai, Mi-T-M, Sullair,  Basic, 

Dynapac, MBW, Weber, Bartell, Bennar Newman, Haulotte, Ditch Runner, Menegotti, 
Morrison, Contec, Buddy, Crown, Edco, Wyco, Bomag, Laymor, EZ Trench,  Bil-Jax, F.S. 

Curtis, Gehl Pavers, Heli, Honda, ICS/PowerGrit, IHI, Partner, Imer, Clipper, MMD, Koshin, 
Rice, CH&E, General Equipment ,Amida, Coleman, NAC, Gradall, Square Shooter, Kent, 

Stanley, Tamco, Toku, Hatz, Kohler, Robin, Wisconsin, Northrock, Oztec, Toker TK, Rol-Air, 
APT, Wylie, Ingersoll Rand / Doosan, Innovatech, Con X, Ammann, Mecalac, Makinex, Smith 

Surface Prep,Small Line, Wanco, Yanmar 

http://www.discount-equipment.com/category/5443-parts/
http://www.discount-equipment.com/category/5443-parts/
http://www.discount-equipment.com/page/1517-search-manuals/
http://discount-equipment.com/parts/



